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L TUNBDEEDRTE Gsas

HiT 9 XMER (0. 2~0.3) [C3DKDIC, BVWT-REMDY=alb—Y 3
ViDL CREZRET D,

Temperature generator for REMD-simulations

http://folding.bmc.uu.se/remd/

Exchange probability: 0.2

Lower temperature limit: 298 5 NIEDBETE. KDL

Upper temperature limit: 302 mESH, KBEREADIDE,
LIJUNBOREZERLTIND,

Number of water molecules: 10824

Number of protein atoms: 1960

$

For your scripting pleasures we also give the temperatures below as one long comma-separated string. Enjoy.

298.00, 299.57, 301.14, 302.72 AMEDIREZER
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BE
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SCLSEH &Y 27 AOGROMACS Gsas

F& CEHIT DSGROMACS

GROMACS fZ¥EE. MPl. OpenMP

% GROMACSOIOVY REIC. YD1 w PO [ _mpi_dl DMYEET,
4062 X FARTOIVY RTHFMENTEEFRTIZH D EE A,
(gromppld&ER, mdrunlIMPIIESY, FER)

GROMACSZ({FRE I DICHIZ > T

V32D T HCMUTOEHRZEN IRIEZHDRTE)

module load Gromacs/4.6.2

export FLIB_FASTOMP=FALSE

X GROMACSIOVY FEITEIC. MTOX Yy Z—IDNRRSINET,

Jwel050i-w The hardware barrier couldn®t be used and continues processing using the software barrier.

SCLSEHEMY X T AFX10) ICRESNTUND/\— RO = P/\N) PHEEDNFATERSNZSICRRISNE T,
(FLIBLFASTOMP=FALSEIZCERE L TWNRICYH) IMEICAEREESH D FE A

P- IRZITEAE ARB(C SRR HPCIETE RS ETO IS A 5



[userl@scls ~1$ cp -r -namiuchi/lec/lec_gmx_remd . RERREZ/MLIET 1 LT Flec_gnx_remdZ
BEDODHR—AT« U2 FJEBRCIE-

[userl@scls ~]$ cd lec_gmx_remd ALY RF 1 L2 RU%E, JE—UIZlec_gromacs_remd>« L2 ~UJICES

[userl@scls lec_gmx_remd]$ Is -IF lec_gromacs_remdT « L2 ~J DABZERT

AEt 24
drwxr-xr-x 2 userl groupl 4096 68 16:47 2014 pre/ FROY =2 2 1 JLOIRILF —MEFHBHES

D7)V B TNDdTr LD K

drwxr-xr-x 2 userl groupl 6R script/ V3TROVTRERBIMLTNDT 1 LD R

drwxr-xr-x 3 userl groupl 6H sim0/

drwxr-xr-x 3 userl groupl 6H siml/ AEBEOEEDYI1L—Y 3 VIBES
drwxr-xr-x 3 userl groupl 6H sim2/ BT DT Lo R

drwxr-xr-x 3 userl groupl 6H sim3/

[userl@scls lec_gmx_remd]$

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



1t

AU—YI3VIREDT LD RUIC. ZPNBNDOERE CEEILLIZL T HDEVER
EEIEDINDX =S T 71 )L

[userl@scls lec_gmx_remd]$ less sim0/equil.mdp YL —Y3V#0T 1 LD kU (sim0)D
EEHER/IND A —=H T 71 )L (eauil.mdp)

; Temperature coupling

tcoupl = V-rescale ; modified Berendsen thermostat

; pressure coupling s

pcoupl no ; No pressure coupling in NVT °

gen-vel yes

[userl@scls lec_gmx_remd]$

LTJUNBDEERE
BYTalL—yavrT« LD R (im*)D
) i EEHER/ NS X —45 D 7 1 )blequilmdo) D
[userl@scls lec_gmx_remd]$ grep ref-t sim*/equil_mdp BERTE/INSA—SIESEE

298.00 | ; reference temperature, one for each group,
299.57 | ; reference temperature, one for each group,
301.14 | ; reference temperature, one for each group,
302.72 | ; reference temperature, one for each group,

simO/equil .mdp:ref-t
siml/equil _mdp:ref-t
sim2/equil .mdp:ref-t
sim3/equil .mdp:ref-t

[userl@scls lec_gmx_remd]$
ZNZNDRERE/NSA—IDIE

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



EE1 [grompp] (1)

V3TRDT bk

[userl@scls lec_gmx_remd]$ cat script/grompp_equil._sh
#1/bin/sh

pjsub options
#PIM -L "rscgrp=small™ =27 )V—"J Tsmall]
#PIM -L "node=1" g;gg;ﬁg;ﬁ% H(J)/\J

L —_ - LL] EEPANE CNSI=] pa)
#PIM -L “elapse=10:00 BT S —WHEBEENICEITS

Program Execution
module load Gromacs/4.6.2

GROMACSIRIZEZHDRTE

export FLIB_FASTOMP=FALSE

for dir in sim[0123]

do
cd $dir
grompp_mpi_d -f equil.mdp -c ../pre/em.gro -p ../pre/topol.top -o equil.tpr
cd ..

done

[userl@scls lec_gmx_remd]$
8YIaL—Y3avF(LIRUT
lIBICgromppZE3R1T

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



&1 [grompp] (2)

Y 37 DA EIRRETES

[userl@scls lec_gmx_remd]$ pjsub script/grompp_equil.sh
[INFO] PJIM 0000 pjsub Job 15151 submitted.

[userl@scls lec_gmx_remd]$ pjstat
ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_1ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
15151 grompp_equ NM RUN userl 04/22 10:33:54 0000:10:00 1

[userl@scls lec_gmx_remd]$

Y 3 JR{THR

[userl@scls lec_gmx_remd]$ less grompp equil.sh.o I3 T DETHEEDIESR

[userl@scls lec_gmx_remd]$ Is -IF sim*/equil_tpr

-rw-r--r-- 1 userl groupl 2157740 4R 22 10:33 2014 sim0/equil ._tpr

-rw-r--r-- 1 userl groupl 2157740 4R 22 10:33 2014 siml/equil ._tpr ERENEELTUHD
-rw-r--r-- 1 userl groupl 2157740 48 22 10:34 2014 sim2/equil._tpr THHEERRGTANT 7 1)L
-rw-r--r-- 1 userl groupl 2157740 4R 22 10:34 2014 sim3/equil _tpr

[userl@scls lec_gmx_remd]$

ﬁ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



E#1t [mdrun] (1) G)SCLS

V3 T2ZAD)T =

[userl@scls lec_gromacs]$ cat script/mdrun_equil._sh
#1/bin/sh
pjsub options
“rscgrp=small” N =T )—"T Tsmall]
""node=12" BARA/ — & 8]
--mpi "‘proc=192" JOt&R#E 128
—-mpi "rank-map-bychip" é/;\FA@jD?\R@%MD}}EDODEE
-L ""elapse=10:00"" Hi?“’ﬁ*’_@% rloﬁj —
B SHETIS—HHEREHNICAITD

Program Execution
module load Gromacs/4.6.2
GROMACSIRIZEZ ¥ DETE

export FLIB_FASTOMP=FALSE

mdrunDZE1T
X EEEOITICYIaL—Y 3 ViEREZER < ERTE(10ps)

mpiexec mdrun_mpi_d -v -multidir sim[0123] -deffnm equil

[-multidir 273> ) .. E8EOT 1 UD RJICHRINSNIZRETHINIE

sim0, sim1, sim2, sim3M4EDT «+ UD R UJICBIISNIZEIT AN 71 IV =,
FNEN3/ — R8s 7JOtR)EA L Cilli5IC NI

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



E#1E [mdrun)] (2)

Y 37 DA EIRRETES

[userl@scls lec_gmx_remd]$ pjsub script/mdrun_equil.sh
[INFO] PJIM 0000 pjsub Job 15152 submitted.

[userl@scls lec_gmx_remd]$ pjstat
ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT ERROR TOTAL
0 0 0 0 1 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_1ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
15152 mdrun_equl NM RUN userl 04/22 11:00:16 0000:10:00 8

[userl@scls lec_gmx_remd]$

Y 3 JR{THR

[userl@scls lec_gmx_remd]$ less mdrun_equil.sh.o Y 3 T DRTIEDTER

[userl@scls lec_gmx_remd]$ less simO/equil.log L7 HODEEHLARDO T T 7 1)L

[userl@scls lec_gmx_remd]$ less sim3/equil.log L7 N3DEEHCARDO T T 7 1)L

[userl@scls lec_gmx_remd]$

ﬁ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A
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T-REMD ¥=ab—Y3YV

PEHEEDINS A= DENN

[userl@scls lec_gmx_remd]$ diff simO/equil._mdp simO/sim.mdp
54c54
< gen-vel = yes
> gen-vel no i REFER LIS
63c63
< continuation no

> continuation ETREZSISHhS
[userl@scls lec_gmx_

A=Y 3 VED/INDA=FDEN

[userl@scls lec_gmx_remd]$ diff simO/sim.mdp siml/sim.mdp

49c49
< ref-t 298.00 ; reference temperature, one for each group, in K

> ref-t 299.57 ; reference temperature, one for each group, In K E0\(E
55c55 BEDH

< gen-temp 298.00 ; temperature for Maxwell distribution

> gen-temp = 299.57 ; temperature for Maxwell distribution
[userl@scls lec_gmx_remd]$

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



T-REMD ¥Y=aU—Y3 Y [grompp] (1)

Y3 T20 Tk

[userl@scls lec_gmx_remd]$ cat script/grompp_sim.sh
#1/bin/sh

pjsub options
#PIM -L "rscgrp=small™ =27 )V—"J Tsmall]
#PIM -L "node=1" g;gg;ﬁg;ﬁ% H(J)/\J

L — - L EEPANE CNSI=] pa)
#PIM -L “elapse=10:00 BT S —WHEBEENICEITS

Program Execution
module load Gromacs/4.6.2

GROMACSIRIBEHDERTE

export FLIB_FASTOMP=FALSE

PR - KL DIERIL.
ggr dir in sim[0123] 3571 LR Uiz B0(200ps517) 183
cd $dir
grompp_mpi_d -f sim.mdp -c _equil_200ps/equil.gro -t _equil_200ps/equil.cpt ¥
-p ../pre/topol._top -0 sim.tpr
cd ..
done

userl@scls lec gmx remd]$ .
L —gmx_ 1 B2 UL—YavrF«UDRUT.
IEICgromppZ=1T

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



T-REMD ¥Y=aU—Y 3 [grompp] (2)

Y 37 DA EIRRETES

[userl@scls lec_gmx_remd]$ pjsub script/grompp_sim.sh
[INFO] PJIM 0000 pjsub Job 15153 submitted.

[userl@scls lec_gmx_remd]$ pjstat
ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD ERROR TOTAL
0 0 0 0 1 0 0 0 0 1
S 0 0 0 0 1 0 0 0 0 1

JOB_1ID JOB_NAME MD ST USER START_DATE ELAPSE_LIM NODE_REQUIRE
15153 grompp_sim NM RUN userl 04/22 11:43:28 0000:10:00 1

[userl@scls lec_gmx_remd]$

Y 3 JR{THR

[userl@scls lec_gmx_remd]$ less grompp _sim.sh.o I3 T DETBEDIEDR

[userl@scls lec_gmx_remd]$ Is -IF sim*/sim.tpr

-rw-r--r-- 1 userl groupl 2157740 4R 22 11:43 2014 simO/sim.tpr

-rw-r--r-- 1 userl groupl 2157740 4R 22 11:43 2014 siml/sim.tpr g@f“ﬁ_y S0
-rw-r--r-- 1 userl groupl 2157740 4R 22 11:43 2014 sim2/sim.tpr %ﬁﬂi%:ﬁrfi
-rw-r--r-- 1 userl groupl 2157740 4R 22 11:43 2014 sim3/sim.tpr

[userl@scls lec_gmx_remd]$

ﬁ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



T-REMD ¥=2L—¥3 Y [mdrun] (1) ®scLs

V3 T2ZAD)T =

[userl@scls lec_gromacs]$ cat script/mdrun_sim.sh
#1/bin/sh
—————— pjsub options ------
“rscgrp=small™ N =T )—"T Tsmall]
""node=12" BARA/ — & 8]
--mpi "‘proc=192" JOt&R#E 128
—-mpi "rank-map-bychip" é/;\FA@jD?\R@%MD}}EDODEE
-L ""elapse=10:00"" Hi?“’ﬁ*’_@% rloﬁj —
B SHETIS—HHEREHNICAITD

—————— Program Execution ----=-
modulle load Gromacs/4.6.2
GROMACSIRIBZZ I DERE
export FLIB _FASTOMP=FALSE

mpiexec mdrun_mpi_d -v -multidir sim[0123] -replex 100 -deffnm md

B mdrun(D3RAT - )
[ _replex zl'jy 3 \/ ] T'REMD%’fj XBEIBEOITICYIaL—Y 3 VBREZERE< (10ps)55E

-multidir CIBRE=N/Ssim0, sim1, sim2, sim3DY I3 L —Y 3 VIREBICXT U T,
10027y JBICUTUARRMERTIT D, 127V TOBEIE/INSX=FT 1)L
CTERTE (CDOEZTIZ2fs)

(100 T v JI3FEEB=DIT. BEEIE500~10002 7 v Ti2E)

R e E B AR HPCEH EERRNSHE TN TS A

IR



T-REMD ¥Y=a2U—¥3 Y [mdrun] (2)

Y 37 DA EIRRETES

[userl@scls lec_gmx_remd]$ pjsub script/mdrun_sim.sh
[INFO] PJIM 0000 pjsub Job 15154 submitted.

[userl@scls lec_gmx_remd]$ pjstat
ACCEPT QUEUED STGIN READY RUNING RUNOUT STGOUT HOLD

0 0] 0 0] 1 0 0] 0
s 0 0] 0 0] 1 0 0] 0

JOB_ID
15154

JOB_NAME MD ST USER
mdrun_sim. NM RUN userl

START_DATE

[userl@scls lec_gmx_remd]$

Y 3 JR{THR

[userl@scls lec_gmx_remd]$ less mdrun_sim.sh.o

[userl@scls lec_gmx_remd]$

R e E B AR HPCEH EERRNSHE TN TS A

IR

(S) SALS

ERROR TOTAL
0] 1
0] 1

ELAPSE_LIM NODE_REQUIRE
04/22 11:53:46 0000:10:00 8

Y 3 T DRITIRERDIER



2 L—Y 3 VOETIBROMER (1)

AU—Y3VIRIBODT 1 LD FUIC, ZN2NORTOT D 7+ )LDBAHASTNTLD,

[userl@scls lec_gmx_remd]$ less siml/sim.log AU—Y3VHOERFOT I P A IV EERT

Replica exchange in temperature
298.0 299.6 301.1 302.7
Replica exchange interval: 100 REMDY X2 L —Y 3 VDIEH
Replica random seed: 25511

Replica exchange information below: x=exchange, pr=probability
Initial temperature: 300.779 K

Started mdrun on node O Thu Jul 3 16:12:23 2014

Replica exchange at step 100 time 0.2 RBERITITDNRERDEEYI2U—Y 3 VIRE (CORTYIT
Repl 0 <-> 1 dE_term = 3.926e+00 (KkT) F¥Ial—Y3#0) EONT VY v I)ILIRIVF—DELER
Repl ex O 1 2 x 3
Repl pr .02 1.0 TORT v TRIETIE, #0E#L, #2E#3DRITRBRERT L,
#2 C#3(DE TR RKIL (xED)

Replica exchange at step 200 time 0.4 = D
Repl 1 <-> 2 dE_term = 2.432e+00 (KT) CORTYITORBHITOMNRIETY T2 L —Y 3 U#2

Repl ex O 1 2 3
Repl pr -09 CORFTYITEAETIE. #1020 TR|ZTT Uy RHBIFREKIL




T-REMD Y= U —Y 3 VOERTHROMER (2

Replica exchange at step 300 time 0.6

Repl 0 <-> 1 dE_term = 4.279e+00 (KT) MTYYPIVIRIVF—IE. #0K D 1#DFIHH4.3 kTS 1)
Repl ex 0 1 2 3 RIATEER (1% C RIS AARIL

Repl pr .01 .04

Replica exchange at step 2600 time 5.2
Repl 1 <-> 2 dE_term = 1.796e+00 (KkT) MTYY v I)VIRIVF =, #1KD#2DT3HHI1.8 kTS
Repl ex O 1x 2 ] RIRTEER[317% T RIS AL

Repl pr 217

Replica exchange at step 4800 time 9.6
Repl 1 <-> 2 dE_term = -2.206e+00 (kT) TP )V IRIVF—IE. #1KD#2DFIHHI2.2 kTIE()
Repl ex O 1x 2 3 ZHAEER(F100% CITHR(LARIT

Repl pr 1.0

Replica exchange statistics

Repl 49 attempts, 25 odd, 24 even
Repl average probabilities:

Repl 0] 1 2 K]

Repl .33 .23 .21

Repl number of exchanges:

Repl 0] 1 2 K]

Repl ] 6 6

Repl average number of exchanges:
Repl 0] 1 2 K]

Repl .36 .25 .24

REMDY=a L —y3>votr~¥)
(EORMER, RBO. EOBEE)




T-REMDYZ 2L —Y 3 VORITHBEDER (I @SCLS

T-REMDOYXaU—Y3V#HOE, @ UHHEIBIE (RE) ZE8IEADMD TRET LIZERMDPCA

PCA Backbone

2 T T T T T T T
T-REMD (Simulation #0) ~ ©
Standalone MD Y
BAMDTIRN TLVZU\ESED,
T-REMDTHYYTJUVITETND d .
1.5 2

PC1
X EEERU/NSA—HT, RER1TRAT v TZ500CT-REMDZE1nsEIT UIZ S T U ZEER

R 83 GHE ARSI HPOE B ERNSEHE IO TS A 20

IR



ZBEESNCHSY D U OBRER (1)

GROMACSOT-REMDY=a U —Y 3 Vg,
RV

\

Sab—YyavTEAINE RS I T D RUIE.
REICDUNTERRY
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\

BEICDOVNCERWNS ST D RIS,
NSO RUD AV EBER U CTER

Q IRIZITEBCEARBLFRIN HPCIET B EMBRHET OIS A
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ZEIESNE DIV D FUOBER (2)

SR D 7 1 )VDERK

NIND—DDYIaU—Y 3 VIRIEOOT I 7 1ILD6, REBIBEHRZBE LTI 71 )LICHE

[userl@scls lec_gmx_remd]$ pjsub --interact SR 3 TOA

[INFO] PJM 0000 pjsub Job 15155 submitted.

[INFO] PJM 0081 .connected.

[INFO] PJM 0082 pjsub Interactive job 15155 started.

[user1@a01-008 lec_gmx_remd]$ module load Gromacs/4.6.2 GROMACSIRIEZEI DR FE

RIBHREBL I DPerl XD T

[user1@a01-008 lec_gmx_remd]$ demux.pl simO/sim.log CoCRYS 4L —Y 3 Y HODO S EEE)

Going to read a file containing the exchange information from
your mdrun log file (simO/sim.log).

This will produce a file (replica _index.xvg) suitable for
demultiplexing your trajectories using trjcat,

as well as a replica temperature file (replica_temp.xvg).
Each entry in the log file will be copied 0 times.

There are 4 replicas.
Finished writing replica_index.xvg and replica_temp.xvg with 50 lines

userl@a01-008 lec gmx remd
! e —gmx_ 1% OO0 7LD, 4L T HORBRIEHRZ501T (#IEIECE + X5 1T490) D

M U T, replica_indexxvegcreplica_temp.xve®2 DD 71 JUICHED

ﬂ IRZITEAE ARB(C SRR HPCIETE RS ETO IS A



2BLSNE RSV T FUDOBER (3 Sscis

demux.plDERK T DT 7 7 )U(1) - replica_index.xvg

[userl@scls lec_gmx remd]$ less replica_index.xvg
1 2

NOAIIZIa LU —Y 3 VIRE (AH BHO, #1, ...)
BIILTUADA YT VIR

PRPRRPRROOOOO
WWOOOOOO0O
COWWWR KL RK
PRRPREPREPRWWW
NNNNNNNN W]

Simulation #0 (298.00K)

[userl@scls lec_gmx_remd]$
. w3 ++++++ A+ 4+
D269 DE...
#2 [
H*
8
s
@
w f ++  ++ S i i o S e i N
BEDYI1U—YavVREGBNEYZ2U—Y3
~ - 24 — |
/#O)L_.Jg*ﬁL/EL/j‘JD@*%? s0t++++++ ++
0 1 2 3 4 5 6 7 8 9 10
Time (ps)

P- IRZITEAE ARB(C SRR HPCIETE RS ETO IS A 23



Z2BLSNE RSV T FUDOBER @) Sscis

demux.plDERKN T DT 7 1 )U(2) - replica_temp.xvg

[userl@scls lec_gmx_remd]$ less replica_temp.xvg
1

ASARBUTINDA YT VIR

BRIY=a2U—-—Y3VIRIE

Replica Exchange Statistics

PRRRPOOOOO
PRrOOOOOOO
NNNNNR R R

WWWwwwowowwN
OCORRPRRPNNN W]

replica #0 +
replica #1
[userl@scls lec_gmx_remd]$ replica #2
replica#s
#3 (302.72K) AR A Hof otk skokf sk stk R Kok ok Kok stk R otk ok £
D269 ...
H* #2 (301.14K) THEH ok X 444kkkk+++++++++0000o0o000 0 d++++00++++++4%
S
<
=]
E
® #1 (299.57K) T OOO4+++ OEXXEn DOO4++++++XX+0000+4+000 i
Y2 U—Y 3 VRERZER I DU T HDORTF #0 (298.00K) T T+ HHH0O000OXXOOx X000 ++ efafafalok
0 1 2 3 4 5 6 7 8 9 10
Time (ps)

P- IRZITEAE ARB(C SRR HPCIETE RS ETO IS A 24
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ZEIESNE DIV D FUOBER O

NSO R DB

demul.plDVERK UiCreplica_index.xvgZ /BB LT, FYIalL—yayvDrSIYT D L) ZBER

[userl@a01-008 lec_gmx_remd]$ trjcat mpi_d -demux replica_index.xvg -f simO/sim.xtc
siml/sim.xtc sim2/sim.xtc sim3/sim.xtc

- G R OMA C S -
) ¢ ZESNERSIY IO NIZBBRIDIVI R

Read 4 sets of 50 points, dt = 0.2

[user1@a01-008 lec_gmx_remd]$ exit £ETAIY 5 TOIRT
[INFO] PJM 0083 pjsub Interactive job 15155 completed.
[userl@scls lec_gmx_remd]$

BERSNCE ST O RUDI P21\

[userl@scls lec_gmx_remd]$ Is -IF *_xtc

total 280

-rw-r--r—-- 1 userl groupl 743536 Apr 22 14:20 0 _trajout.xtc
-rw-r--r—-- 1 userl groupl 743736 Apr 22 14:20 1 trajout.xtc
-rw-r--r—-- 1 userl groupl 743560 Apr 22 14:20 2_trajout.xtc
-rw-r--r—-- 1 userl groupl 743584 Apr 22 14:20 3 _trajout.xtc
[userl@scls lec_gmx_remd]$
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RMSD Backbone (Temperature=298.00K)
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